o5 B0 A o]zpetql AS B Zetet
B7
Qy=2 © y=4x-2
© y=2x(x-1) ®r=1
1

@y:E(x+1)(x—3)
> E

> E:

> A ©

> He @

@2 EFdroll @2
ohct.

ZohH y = 241 0|2 o|}@47




- gxz o] 2 EA A (a, a2 —1) 2 AL T, g O] TS
“etelat. (2 a<0)

4
a’>-1=-a®
)
1,
5
a’=5

a<0°B% g=-15




y%xg Aol vlHotL x =4 & Tq1y:_8 olt}. x 9 gro] -3
ANA —1 7] 2 Foke ), y o gtel 71ee Tatore

> E

> =g 4

1
8=ax4? a=-=
y= 222 :

=5
f(—3)=—%x(—3)2:—§
f(_l):—§ (—1)2:—5

|
N | =
|
|
N | O
~—7> X
I
e~




d

ITEy=5x2+q0]1,
A1, 2 EAYEE HUdstH 2 =5x%x12+¢
T qg=-3

y=>5x? o] JALE y FO FFO= g Wa B

ATV}




0|7

i)

3 -
Fy=-7+3° AW}y = a(x+p)? o BAHE

_ 3
AV y = a(x-p)* & ATty = -7 + 3 ] ZAH

o, ap 9] #& Fstolet (& p<0)

o
By
e

y=a(x+p)® 9 ZA4 (-p, 0)
3 _
y= _sz +39°] (-p, 0) = tYdst4A
3 2 3 2 2
- =0, — =9, :4
4p +3=0 4p 3, p

p=-2(p<00|BR)
y=a(x+2)> ) & (0, 3) & Y34

3
:4 = —
3 a, a 1




